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W && 7] 0. 056 0 0 280 0.027
s 4] 0. 045 0 0 111
5 = 0. 040 0 0 254 0.024
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" 3A * 0.003 0 0 0. 081 4 1 352 0.017
% W 0. 005 0 0 0. 044 0 0 0.019
B E|R S 0.062 0 0 278 0.026
X &fE I 0.004 0 0 0.062 5 1 273 0.017
& |KABlS W B 0. 002 0 0 0. 047 0 0 280 0.014
B A|H E=) 0.039 2 0 296 0.024
5 BB a 0.003 0 0 0.049 4 1 502 0.021
% H%E H 0.003 0 0 0. 053 5 1 290 0.021
L FA & 0. 001 0 0 0. 051 4 1 379 0.005
[ITH JT 0.003 0 0 0.047 3 0 245 0.011
A=A 5 0. 041 2 0 343 0.018
o OFF|R ¥ 0. 055 2 0 211 0.024
X #mX f 0. 040 3 0 387 0.021
BlA ®E & BE B 0. 002 0 0 0.3 0 0 0.039 2 0 318 0.007
E RE g 0.039 1 0 294 0.011
5 X 8 0.052 0 0 338 0.012
R /NP SN 0.035 2 0 252 0.015
W &&= 15 0.052 0 0 0.035
B = L] 0.003 0 0 0. 041 0 0 0.042
X i) 0. 041 0 0 0.032
& B 0.8 0 0 0. 051 0 0 0.038
H# =3 i 0. 045 0 0 0.029
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B OH(\BEXEHS 0.024
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V&R 2-4-1-4 ZEHEEAE®H (NO - NO, - NOx : 21 £ - E£R{E)
[FRiExIKER)
—BIL=ER (NO) Z B 1t E £ (NOy ZEXRBMIEYH (NO+NO)y)
Bl ool e [52E2 me | wn 190 BB g | g |10 A 0 otpon 11 it ?f?%é@ B e | g |109M|ET O ERE
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(B) | (BR) | (ppm) | (ppm) | (ppm) |(B) | (BRE) | (ppm) | (ppm) | (B) | (%) | (B) | (%) | (ppm) (8) ()| (B | (opm) | (ppm) | (ppm) (%)
W &= | {£ | 360 8598| 0.004| 0.120( 0.020| 360| 8598| 0.012| 0.062 0| 0.0 0[ 0.0] 0.027 0| 360 8598| 0.015( 0.158( 0.046 76.2
] #| 1% | 356| 8555 0.002| 0.097| 0.012| 356 8555| 0.011| 0.065 0| 0.0 0[ 0.0] 0.024 0| 356/ 8555/ 0.013| 0.132( 0.036 83.1
" | & | 359| 8634| 0.003| 0.127| 0.015| 359| 8634| 0.013| 0.069 0l 0.0 0| 0.0/ 0.028 0| 359| 8634| 0.015( 0.182| 0.040 83.5
E=3 Br| 4£ | 359 8621| 0.002| 0.103| 0.012| 359| 8621| 0.012| 0.070 0| 0.0 0[ 0.0] 0.025 0| 359] 8621| 0.014| 0.153| 0.036 83.9
LS Wil 4% | 359 8595 0.002| 0.075| 0.009| 359 8595| 0.008| 0.054 0| 0.0 0[ 0.0/ 0.019 0| 359] 8595/ 0.010( 0.115( 0.027 81.5
& Bp|#T| 284 6847| 0.003| 0.159( 0.018| 284| 6847| 0.010| 0.077 0| 0.0 0[ 0.0] 0.024 0| 284| 6847| 0.012( 0.203| 0.039 79.0
- + $R| 4 | 361 8640| 0.005| 0.156| 0.029| 361| 8640| 0.014| 0.069 0| 0.0 0[ 0.0] 0.029 0| 361 8640| 0.018| 0.225( 0.058 74.9
1] H| 1% | 362| 8655 0.004| 0.089| 0.015| 362 8655 0.010( 0.054 0| 0.0 0[ 0.0] 0.021 0| 362| 8655/ 0.014| 0.123| 0.032 73.8
R 1% | 346| 8335/ 0.005| 0.153| 0.022| 346/ 8335 0.012| 0.062 0| 0.0 0[ 0.0] 0.026 0| 346/ 8335/ 0.017( 0.188| 0.047 72.9
| 1£ | 344 8328| 0.002| 0.078| 0.008| 344| 8328| 0.007| 0.047 0| 0.0 0f 0.0 0.017 0| 344| 8328| 0.009( 0.108( 0.024 82.1
B %A #| {£ | 362| 8674| 0.002| 0.069| 0.009| 362| 8674| 0.008| 0.072 0| 0.0 0f 0.0 0.017 0| 362| 8674| 0.010( 0.112( 0.026 78.4
£ % t| % | 365/ 8753| 0.003| 0.082| 0.012| 365| 8752| 0.007| 0.057 0| 0.0 0f 0.0/ 0.019 0| 365/ 8752| 0.010( 0.127( 0.030 71.9
B & 2| ® | 363| 8680| 0.002| 0.109( 0.013| 363| 8679| 0.011| 0.064 0| 0.0 0[ 0.0] 0.026 0| 363 8679/ 0.013| 0.148| 0.036 83.8
fi& |K (& Nl O| 7 | 364| 8689( 0.002| 0.091| 0.010| 364| 8689( 0.007| 0.055 0| 0.0 0f 0.0 0.017 0| 364| 8689| 0.009( 0.127( 0.027 78.9
SAB|S b 5B| 1E | 365 8709| 0.002( 0.057| 0.005| 365 8709| 0.007( 0.056 0| 0.0 0[ 0.0/ 0.014 0| 365/ 8709| 0.008( 0.081( 0.018 80.4
B A8 | {£ | 365 8711| 0.006( 0.147( 0.031| 365 8711| 0.011| 0.052 0| 0.0 0[ 0.0] 0.024 0| 365/ 8711| 0.016( 0.179( 0.053 64.2
= B|A ;B| ® | 364 8689( 0.002( 0.092( 0.012| 364| 8689| 0.009| 0.048 0| 0.0 0[ 0.0] 0.021 0| 364| 8689| 0.012( 0.129( 0.032 80.3
£ H|%E M| £ | 365 8653| 0.003[ 0.079| 0.015| 365| 8654| 0.009| 0.039 0l 0.0 0| 0.0 0.021 0| 365| 8653| 0.012( 0.113] 0.035 74.7
L FR | & | 364 8656( 0.000( 0.019( 0.002| 364| 8656/ 0.002| 0.030 0| 0.0 0[ 0.0] 0.005 0| 364| 8654| 0.003| 0.032( 0.007 84.2
W Tl Jt| & | 364| 8699| 0.001| 0.029| 0.003| 364| 8700/ 0.005| 0.037 0l 0.0 0| 0.0/ 0.011 0| 364| 8699| 0.005( 0.063| 0.013 84.8
B B B| 1% | 358/ 8560| 0.003| 0.106| 0.015| 358| 8560| 0.008| 0.047 0| 0.0 0 0.0/ 0.018 0| 358] 8560( 0.011| 0.139( 0.032 73.5
F o ORF[FR FF| 4£ | 365 8714| 0.005| 0.122( 0.024| 365 8714| 0.011| 0.052 0| 0.0 0[ 0.0] 0.024 0| 365/ 8714| 0.016( 0.170( 0.046 67.1
P 11PN #| 4£ | 360 8655 0.004| 0.124| 0.019| 360| 8655| 0.009| 0.053 0| 0.0 0| 0.0] 0.021 0| 360] 8655/ 0.013| 0.148( 0.038 70.2
A O|EZREE| k& | 329/ 7931| 0.000( 0.006( 0.001| 329| 7931| 0.003| 0.022 0| 0.0 0[ 0.0] 0.007 0| 329] 7931| 0.003| 0.023( 0.007 92.9
FE ORE #E| 1% | 363| 8670| 0.001| 0.064| 0.006| 363| 8670| 0.005| 0.044 0| 0.0 0[ 0.0/ 0.011 0| 363 8670/ 0.006( 0.091( 0.016 86.5
& X =] #T| 363| 8686| 0.001| 0.038| 0.004| 363| 8686| 0.005| 0.032 0| 0.0 0[ 0.0 0.012 0| 363] 8686/ 0.006( 0.062( 0.016 87.7
RWAB|X K I| 1% | 359 8678| 0.001( 0.128| 0.007| 359 8678| 0.007( 0.049 0| 0.0 0[ 0.0] 0.015 0| 359] 8678| 0.008( 0.160( 0.022 83.5
w &= 18| # | 360| 8633| 0.015| 0.203| 0.044| 360| 8633| 0.020| 0.070 0| 0.0 1| 0.3[ 0.035 0| 360] 8633| 0.035( 0.268( 0.076 57.7
B = r| # | 362| 8643| 0.019( 0.289| 0.050| 362| 8643| 0.022( 0.081 0| 0.0 14] 3.9 0.042 0| 362| 8643| 0.042( 0.370( 0.085 53.6
PN BT| # | 356/ 8581| 0.016( 0.150| 0.038| 356 8581| 0.019| 0.071 0| 0.0 0[ 0.0] 0.032 0| 356/ 8581| 0.034| 0.212( 0.068 54.0
& BS|#ET| 354| 8449| 0.045| 0.488| 0.122| 354| 8449| 0.022| 0.078 0| 0.0 5 1.4] 0.038 0| 354| 8449| 0.067| 0.554| 0.161 33.2
H E=3 | 4£ | 356/ 8555| 0.010| 0.149( 0.028| 356/ 8555| 0.017| 0.062 0| 0.0 0[ 0.0] 0.029 0| 356/ 8555| 0.027( 0.196( 0.052 61.7
it fR| 7 | 360| 8594| 0.017| 0.207| 0.045| 360| 8594| 0.017| 0.063 0| 0.0 0[ 0.0] 0.031 0| 360] 8594| 0.034| 0.256( 0.075 51.4
#Hpwmzzal B | 352| 8500 0.020| 0.171| 0.044| 342| 8282| 0.012| 0.199 0| 0.0 0[ 0.0] 0.024 0| 341| 8275| 0.032( 0.227( 0.060 37.8
B |15 EE[1EE B4 75 | 360] 8677| 0.016| 0.234| 0.054| 360| 8677| 0.018| 0.080 0| 0.0 2| 0.6/ 0.035 0| 360|] 8677| 0.034| 0.278| 0.086 54.0
K IE|SH)IBHE|#T| 365 8712| 0.036( 0.225| 0.072| 365 8712| 0.017( 0.062 0| 0.0 0[ 0.0] 0.030 0| 365/ 8712| 0.054| 0.270( 0.096 32.5
% Hy|&HeE4E| 7 | 358 8666( 0.029( 0.196| 0.068| 358 8673| 0.022| 0.074 0l 0.0 9] 2.5/ 0.040 0| 358| 8666/ 0.051| 0.248( 0.096 43.0
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V& 2-4-1-5

(1) FEFHE (ppm)

“BIEER (NO, : BEFEEIL)

(REREE 2]

1= X o ith Hr LREEl E 1zh L bo H17 H18 H19 H20 H21
- % B il aif 1] * 0.011 0.011 0.010 0.009 0.008
5 7 & * 0.014 0.012 0.013 0.011 0.011
s i T 0.013 0.013 0.013 0.011 0.010
= b = 0.013 0.013 0.013 0.011 0.012
i fitl [z} 0.015 0.015 0.015 0.013 0.013
t 9 LE3 0.016 0.015 0.016 0.014 0.014
& T * 0.015 0.013 0.014 0.012 0.012
1] H {53 0.012 0.012 0.012 0.011 0.010
R * 0.014 0.014 0.014 0.013 0.012
= b4 % 0.008 0.009 0. 009 0.008 0. 007
) i\ & * 0.012 0.012 0. 009 0.008 0.008
a & il ] 0.009 0.008 0. 009 0.008 0. 007
i FiR = 3] 0.011 0.014 0.012 0.011 0.011
PN I iy n I ] 0.013 0.011 0.011 0.008 0. 007
= il Bix il A * 0.007 0.008 0. 007 0.007 0. 007
=] £:8 A £ 0.013 0.014 0.012 0.011 0.011
= Bia A 5] 0.012 0.014 0.012 0.010 0.009
5 H % H £ 0.011 0.013 0.012 0.010 0. 009
A AL & x 0.002 0.002 0. 002 0.002 0.002
7] JTill JT x 0.006 0.006 0. 006 0.005 0. 005
VN B B £ 0.009 0.010 0. 009 0.008 0.008
Bl FF i # 53 = 0.012 0.013 0.012 0.011 0.011
PN MK o = 0.010 0.012 0.010 0.010 0.009
i A#E K E & ES 0.003 0.003 0.003 0.003 0.003
Ed S ES £ * 0.006 0.006 0. 006 0.005 0. 005
& K A # T 0.006 0.007 0. 006 0. 005 0. 005
® LN Bix & I {E3 0.008 0.009 0.008 0.008 0. 007
B B B il =P T ] 0.021 0.022 0.022 0.019 0.019
£l i ] 0.036 0.032 0.026 0.022 0.022
k) 15 ] 0.023 0.023 0.023 0.021 0.020
= BEiE I 0.027 0.026 0.025 0.022 0.022
=3 Gl * 0.022 0.020 0.019 0.018 0.017
it iR i3] - - - - 0.017
) HEINBEHRXER ] 0.016 0.017 0.017 0.013 0.012
& EE £ B B ] 0.018 0.019 0.018 0.018 0.018
X g N B BEj#E T 0.023 0.026 0.022 0.019 0.017
% Wiz B B # ] 0.027 0.031 0. 030 0.026 0.022
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(2) BFEHEDER 98HE (ppm)

12 X it fir A {38l E = iR i® H17 H18 H19 H20 H21
- & B il Bif T % 0.022 0.022 0.021 0. 020 0.019
&5 v = * 0.032 0.030 0.029 0.025 0.024
B L3 g p: I 0.029 0.026 0.029 0.025 0.024
= b % 0.028 0.027 0.028 0.026 0.027
L] fiE] ] 0.033 0.029 0.030 0.030 0.028
t i = 0.036 0.033 0.033 0.029 0.029
3 Hr x 0.036 0.027 0.028 0.024 0.025
1] H iE3 0.024 0.022 0.022 0.021 0.021
R x 0.028 0.028 0.027 0.026 0.026
= b3 % 0.018 0.019 0. 020 0.018 0.017
iR & * 0.024 0.024 0.019 0.019 0.017
a & il ] 0.023 0. 021 0.022 0. 020 0.019
18 #i& 3 ] 0.026 0.032 0.029 0.025 0.026
X I8 ey n I 5] 0.023 0.021 0.023 0. 020 0.017
= il BiIR il A iE3 0.017 0.016 0.013 0.015 0.014
=] |8 a iE3 0.028 0.026 0.025 0.022 0.024
=) BiE A ] 0.027 0.029 0.024 0.023 0.021
ES H % H x 0.026 0.027 0.026 0.021 0.021
A FiA # x 0.009 0. 007 0. 007 0.006 0.005
L il JT x 0.016 0.016 0.014 0.012 0.011
LN il 5 * 0.022 0.023 0.021 0.020 0.018
# FF{F ¥ £ 0.026 0.027 0.025 0.024 0.024
X MK 0 * 0.027 0.022 0.021 0.021 0.021
b= 2E X E & x 0.008 0.009 0. 007 0.008 0. 007
E2 ERES £ * 0.015 0.014 0.015 0.012 0.011
& K pEl # T 0.017 0.018 0.017 0.014 0.012
L N Bix x I (£ 0.019 0.021 0.019 0.017 0.015
= B B il BiK il 5] 0.035 0.034 0.035 0.031 0.032
) T ] 0.052 0.045 0.042 0.037 0.042
k) 5 ] 0.038 0.037 0.036 0.035 0.035
S BE g I 0.043 0. 040 0.039 0.037 0.038
& A % 0.035 0. 031 0.031 0.030 0.029
it iR ] - - - - 0.031
a BENBHXER ] 0.028 0.030 0.029 0.024 0.024
& FiE £ B B ] 0.036 0.037 0.038 0.035 0.035
X Bid NIl B HEE I 0.041 0.038 0.034 0.031 0.030
# Wiz B B # 5] 0.050 0. 051 0.058 0.044 0. 040
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VX 2-4-1-2 FFiiE L BFEHEDFER 8%IEDEE (NO,)
[(RE®REE 452 —]

0.08 FEE [X]
LY HEEDIS%E (Y]
= w L ¥=2.0760§+0.0015
5 |
I e B =27
m

v b oM TR =0.9832
FFEHE  ppm)
(—iR NO
0.0&
- FETHE [X]
g 0 ﬁ HTEHEDS%E (Y]
g o Y=1.65618+0.0028
&
GH T RE =10
] n.02 n.n4 _
. FEREFE =0, 9469

(BEER NO

0.08
- ETIE [X]
g HEEDR%E (V]
§ 00 - T=1.59347+0.0052
R 7 R =37
v e FERS (2= 0. 9749
T E  pem) R =0
(xR MO
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VE 2-4-1-4 NOx ENO,DEFE (FETEHY(E)

(—&F FRHE

(HEER SRHA{E

(2R EFhHiE>

Log [HO:=RFEME]
Log [NOxERFEIME]
T=1.0417E+0.1894
T RE =0T
TEREREY=0.9754

Log [HO:=RFEME]
Log [NOx=RFE(E]
Y=0.8071E-0.00139
T RE=10
TEREREY=0.5269

Log [0 FEME]
Log [NOwTRFEME]
¥Y=1.3207E+0. 8060
T RE =357
TEREREL=0.9543
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V& 2-4-1-6

“HBRMERRE (SO, M 21 FE, FRHIE)
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V& 2-4-1-1 ZEILTRE (SO, : BFEZEL)
(REREE 2 —]
(1) FFH1E (ppm)
B X oih BT #1138 7 5] bod H17 H18 H19 H20 H21
— fi ISR &igp i} 1% 0. 001 0.001 0. 001 0.000 0. 001
fh 2 ET 0. 001 0. 001 0. 001 0.001 0.001
R fig] 4] 0. 001 0.000 0.000 0.001 0.001
a HiR & 1* 0. 001 0. 001 0.001 0.001 0. 001
a & izl 5] 0. 003 0.003 0.003 0.003 0.002
X I8 dy Ji I ] 0. 001 0. 001 0.001 0.001 -
= 1l Bis il A 1* 0. 001 0. 001 0. 001 0.001 0.001
b= BiA a 5] 0. 001 0. 001 0. 001 0.001 0. 001
B H 4 B E3 0. 001 0. 001 0.001 0. 001 0.001
H, Fih F3 *x 0. 000 0. 000 0. 000 0. 000 0. 000
11} JTill JT * 0. 001 0. 001 0. 001 0.001 0.001
b2 rE % E E *x 0. 001 0. 001 0. 001 0. 000 0. 000
=] HE B il BiE r 5] 0. 001 0.002 0. 001 0.001 0. 001
(2) BEHED 2%R5ME (opm)
B X S ith BT A1 1381 7E B &= H17 H18 H19 H20 H21
- fi% B il it 1] 1% 0.003 0.002 0.003 0.002 0.002
th g ET 0.003 0.002 0.002 0.002 0.002
L G| [is] 0.002 0.002 0.002 0.002 0.002
a BiR =3 1% 0.002 0.003 0.003 0.003 0.003
a =3 [l [is] 0.008 0.006 0.007 0. 007 0. 005
X I gy J I 4] 0.003 0.004 0.003 0.003 -
8 il Big L i3 1% 0.002 0.002 0.002 0.003 0.002
b= BiE A [is] 0.003 0.004 0.004 0.003 0.003
£ H % H 1* 0.003 0.004 0.004 0.003 0.003
H, Fih 3 *x 0. 001 0. 001 0.001 0.002 0. 001
1l JT il JT * 0.002 0.002 0.002 0.002 0.003
b2 ArE ¥ E E * 0.004 0.002 0.002 0.002 0.002
=] H B il BiE o 4] 0.003 0. 005 0.004 0.003 0.003
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VX 2-4-1-b FFHELBFEHED 2%FRIMEDER (SO,)
[(RE®REE 452 —]
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8 ) op & F =11
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[ ETAE ppn) FERE R E =0.8137

{—ER 302
~ 0.030 EAE [X]
%u.uzu HIEHEHEDL%EEE  [V]
ﬁ
%D 010 ¥=1.0714¥+0.0011
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—RIRER - BEROERHFIENRELILL (SO,)
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V& 2-4-1-8 F#HHFIRYE (SPM: FrK 21 £E, FRHEE)
RIExT KR ]
| - o 2ong/m | 0. 1omg/n | 1 35 |3 9 E@“‘?{’"SE : MuEml < | AEEORE
) matE| A | P s aairzeare off PEIEEGanyg

REs |mEs | BE  ([BEEw mMa e w LRy, on 2 5P S o tone/md| e | mue
o0& & 0EE o & ﬁ’&tﬁzf:aﬁ Eo i =

(B) | (B5R8) | (mg/m®) | (BFFED) | (%) | (B) [(%)| (me/m®) | (mg/m’) |(F x - £&O) (8) (GEO - & x)

w &E | t£ |358| 8602| 0.023 3 0. 0| 0.0| 0.375| 0.056 o o x o

= g)| t£ | 350 | 8685 0.018 4| 0.0 0| 0.0| 0.546 0.045 o o x o

& |t |364| 8716/ 0.016 4| 0.0 0| 0.0| 0.548 0.040 o o x o

A ®| 7 |361| 8695 0.016 2| 0.0 0| 0.0| 0.339| o0.047 o o x o

E Br| #£ |357| 8583 0.017 4| 0.0 0| 0.0| 0.564| 0.042 o o x o

L2 w # [362| 8686 0.010 2| 0.0 0| 0.0| 0.283 0.037 o o x o

L Bpl#e| 294 | 7065| 0.018 2| 0.0 0] 0.0| 0.277] o0.048 o o x o

- + | 1= |357| 8638 0.020 4/ 0.0 0| 0.0| 0.550 0.048 o o x o
i m| & 361 8640 0.020 4/ 0.0 0| 0.0| 0.520 o0.042 o o x o

R 1 |344| 8348| 0.022 3/ 0.0 0| 0.0| 0.388 0.053 o o x o

= w| t£ | 354 | 8552| 0.018 4/ 0.0 0| 0.0| 0.582| 0.042 o o x o

" %A #| 4 [362| 8670| 0.029 4/ 0.0 1] 0.3 0.578| 0.081 o o x o

& % | @ |189| 4597| 0.016 000 0| 0.0| 0.146] 0.044 o of o -

5 E|E %| 7 |348| 8387| 0.026 000 0| 0.0| 0.169 0.062 o of o e}

X usl& g1 m| 7 [362| 8664| 0.023 5/ 0.1 1/ 0.3 0.620| 0.062 o o x o

1 |SWBlE W 3| 4 [363| 8678 0.014 0 0.0 0| 0.0| 0.190 o0.047 o of o e}
B AlE A| £ |362| 8680 0.015 2| 0.0 0| 0.0| 0.356 0.039 o o x o

& BlE A| m 362 8652 0.019 4/ 0.0 11 0.3 0.792| 0.049 o o x o

C:: m|| & [363| 8669 0.023 5/ 0.1 1/ 0.3 0.878| 0.053 o o x o

P 3P0 7| & |362| 8670| 0.023 4/ 0.0 1[ 0.3 0.767| 0.051 o o x o

W (W 5| & |362| 8661 0.017 3/ 0.0 0| 0.0| 0.526 0.047 o o x o

B |k Bk &| £ |358| 8592 0.014 2| 0.0 0] 0.0| 0.297| o0.041 o o x o
FoRE|R RF| tE | 363 | 8691 0.024 2| 0.0 0| 0.0| 0.272| 0.055 o o x o

x  #lx | t£ | 356 | 8593| 0.014 3l 0.0 0| 0.0| 0.365 0.040 o o x o

#® ®|E®EE| % 355 8598 0.014 2| 0.0 0| 0.0| 0.296 0.039 o o x o

E R|E | £ |363| 8681 0.014 11 0.0 0| 0.0| 0.376] 0.039 o o x o

& x| & |#xT|363| 8686| 0.026 0| 0.0 0| 0.0| 0.158 0.052 o of o e}
E#WBl® A& I|4 [359| 8653 0.014 2| 0.0 0| 0.0| 0.255 0.035 o o x o

1 ki 5| 7 |354| 8532 0.024 3l 0.0 0| 0.0| 0.390[ o0.052 o o x o

B £ rr| 75 [364| 8705 0.014 3l 0.0 0| 0.0| 0.528| o0.041 o o x o
& Br| 75 |359| 8643 0.018 4| 0.0 0| 0.0| 0.536 0.041 o o x o

15 B|#eT|363| 8716/ 0.022 3/ 0.0 0| 0.0| 0.535| 0.051 o o x o

2 E & 1 [364| 8702| 0.015 2| 0.0 0| 0.0| 0.337| 0.045 o o x o
1 1| 7 [361| 8669| 0.016 3l 0.0 0| 0.0| 0.462| 0.045 o o x o

5 @l % a3 | @ [363] 8692 0.017 3l 0.0 0| 0.0| 0.380| 0.045 o o x o

5] | )1l B3 HE|#ET|363| 8681| 0.023 6| 0.1 0| 0.0| 0.614[ 0.058 o o x o
% H|®& W BBk 7 |352| 8507| 0.019 2| 0.0 0| 0.0| 0.395| 0.045 o o x o
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V& 2-4-1-9

(1) EFHE (mg/m?)

PN FIRKYME (SPM: BEFEEIL)

(REREE 2]

B K swm B HB %8 & H17 H18 H19 H20 H21
- & R & o wi 0.018 0.014 0.020 0.019 0.010
& g fF 0. 021 0.019 0.018 0.017 0.018
A 0.014 0.013 0.013 0.017 0.016
th 5% T 0. 031 0. 021 0. 021 0.026 0.018
& B fE 0.023 0. 021 0.025 0.029 0.023
1 I 0. 021 0.020 0. 021 0.020 0.016
t w 0.020 0.018 0. 021 0.019 0.020
£ BT 4 0.017 0.016 0.016 0.018 0.017
i M & 0. 025 0.024 0.023 0.022 0.020
2 t 0.017 0. 021 0.025 0.028 0.022
) W, 0.017 0.015 0.018 0.017 0.018
£ B R I 0.024 0.022 0.025 0. 031 0.029
HE % ® @& 0.017 0.017 0.017 0.017 -
15 25 2 ™ 0.029 0.028 0.030 0.028 0. 026
x IR 0.024 0.020 0.023 0.026 0.023
£ W B&S W A & 0. 025 0.024 0.026 0.026 0.014
= == H5O#& 0.015 0.015 0.015 0.017 0.015
& B s B 0™ 0.024 0.023 0.024 0.024 0.019
g M |5 B & 0.026 0.024 0.025 0.024 0.023
A Zon #k 0.025 0.023 0.024 0.023 0.023
il 5 1 Tk 0. 021 0.019 0.020 0.019 0.017
1 X I 0. 021 0.013 0.014 0.014 0.014
il F | Fi AT 0. 031 0.030 0.029 0.029 0.024
x GIPS & 0.026 0.022 0.023 0.019 0.014
i AE B EE % 0.015 0.011 0.015 0.015 0.014
-3 E g 0.016 0.014 0.015 0.017 0.014
& * B # T 0. 025 0.024 0.024 0.026 0. 026
HEOHm O BXxX K I 0.019 0.020 0. 021 0.018 0.014
B # B ERES B ™ 0.022 0.020 0.019 0.018 0.018
% i 0. 031 0.022 0.017 0.018 0.014
ki w 0.033 0.029 0.029 0.028 0.024
2 B omT 0.028 0.026 0.024 0.024 0.022
£ . 0.023 0.020 0.018 0.016 0.015
i B - - - - 0.016
1 2 £ B H @& 0.024 0.024 0.024 0. 021 0.017
x s N B B T 0.032 0.028 0.029 0.027 0.023
% Ri% BB H @ 0. 031 0.018 0.017 0. 021 0.019
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(2) BEHED 295&5ME (mg/m?)

12 X it AT i/ 2] H17 H18 H19 H20 H21
- % &l B w 0.069 0.039 0.056 0.058 0.037
£l ] 0. 065 0. 050 0. 045 0.048 0. 045
8 v & 0.043 0.041 0.039 0.045 0. 040
& ¥ iz 0.080 0.047 0.055 0.062 0.048
= " 0.060 0.043 0.057 0.064 0.056
et i#) 0.075 0.048 0.062 0.059 0.047
t i 0.064 0.048 0.052 0.054 0.048
& fir 0.053 0.043 0. 041 0.045 0.042
] H 0.062 0.053 0.048 0.052 0.042
R 0. 045 0. 042 0. 055 0. 065 0.053
= b7 0. 061 0. 042 0.047 0.052 0.042
a AR & 0.068 0.054 0.065 0.083 0.081
a # il 0.055 0. 046 0. 045 0.049 -
b} FiE 3 0.072 0. 061 0.066 0.071 0.062
X I8t | ey n I 0.067 0. 051 0.058 0. 065 0.062
) il Bix il A 0.057 0.049 0.057 0.066 0.047
=] fiRB A 0.043 0.046 0.044 0.050 0.039
= BiE A 0.068 0. 055 0. 061 0.063 0. 049
% H s H 0.066 0.056 0.062 0.059 0.053
A Ee bR # 0.064 0.055 0.059 0. 051 0. 051
w Jtill JT 0.057 0.050 0.053 0.054 0.047
LN il 5 0. 061 0.034 0.038 0. 040 0. 041
F FF (% 53 0.078 0. 061 0.062 0.064 0. 055
X MiX o 0.069 0.048 0.047 0. 050 0. 040
i A2E % E & 0.048 0.032 0. 041 0.044 0.039
x® IR fE 0.054 0.043 0. 045 0.052 0.039
& K a " 0.059 0. 046 0.049 0.058 0.052
B’ A Bix X o 0.053 0.038 0. 045 0.047 0.035
= BE Bl a/iK fr 0.060 0. 051 0.050 0. 051 0. 041
£l 4 0.068 0.047 0. 040 0.047 0. 041
i 1B 0.064 0.052 0.062 0.064 0.052
& B 0.083 0. 060 0.058 0.071 0. 051
& i 0.075 0.053 0.048 0.054 0. 045
it iR - - - - 0.045
b} FiE & B ¥ 0.072 0.052 0.053 0. 051 0.045
X Bidr Nl B #Eid 0.068 0.057 0. 060 0.064 0.058
% %z B B8 ¥ 0.089 0. 046 0.042 0.063 0.045
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VX 2-4-1-7 FFHEELEBFHED 2%BRNMEDER (SPM)
[(RE®REE 452 —]

- FELE [X]
i H B E [V
E 0. 100
@]
g Y=1.81458+0.0138
1‘7 0,050 G@E
N -
E T RE=27
£ 0.000
B 0.000 0.020 0.040 0.08D SRS =0 3655
m ETHBE(ne/n '
(—fafE  SPID
Z R FRHE [X]
% 3:-100 HEHHED % EEE [
ﬁ
£ nncn Y=1.29815+0.0228
% uuuuu ﬁ'
E A TR =0
o (0.040)  0.010  0.080 B
(B8R SPID
o 0.160 FEEHE [X]
gju.mu AT EDIGEIME  [V]
= [
£ Y=1.7385+ 10,0151
0,050
S |
£ 5o =38
& 0.000
O 0.000 0.020 0.040 0.060 RS =0 8804
FFHHE e m™)
(2 B &P
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VX 2-4-1-8

—RIRER - BEROERFHENRELILL (SPM)

— xR
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0.080
< 0.060 ——
z —— iEp
g —8— s g
2 0.040
w2

0.020 —§+-A—‘—

0.000

H17 H18 H19 H20 H21
EEZFESRE)
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< —— LT
& B oulst i
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V& 2-4-1-10 —Fibix®FE (CO : Tk 21 £E. FRHE)
[FRiExIKER)
N R miw|BFHENBEREEDER| = gy
w3  |BEREAR I EA | g BTN 000 a2 BRI & | OEE
mie| BIE | £ [20ppm % #2(10ppm % B E o, 2 o
s |mari| B |[PE[mg| M| o (irEmezeansEoBle s CHEEEIE B | B
i ; " =] %) X =) @it L7z | ] HA R4 HA M4
Hh g T 0 E &ETOEE lﬁ%ﬁ:twﬁ%if:a%&%ﬁ g [
()| (&) | (ppm) [(E%2) (%) | (B) [(%)| (ppm) | (ppm) | (F x - F&O) (a2) (GEO - & x)
—BE|IRE BNNEXREES 362 8626 0.1 0| 0.0 0| 0.0 0.6 0.3 (¢) (@) o)
w &4 Bo(#T | 365 8672 0.4 o 0.0 of 0.0 2.5 0.8 e} ) e}
BHR it i) 364| 8659 0.5 ol 0.0 o| 0.0 2.7 0.8 o o o
B HFEEEH 365| 8691 0.4 ol 0.0 o| 0.0 4.5 0.8 o o 1)
V& 2-4-1-11 —B{tix®FE (CO : BFEEIL)
[(REIREE 2 —])
(1) E£FH9E (ppm)
B =3 & im i) At A E Bif & H17 H18 H19 H20 H21
— % B BiE & = * 0.1 0.2 0.2 0.1 0.1
mn J_\Ff BT I 0.6 0.6 0.5 0.5 0.4
B # B Tk B & - - - - 0.5
b1 £ £ B ¥ 5] 0.4 0.5 0.4 0.4 0.4
(2) BFHED 2%&5ME (ppm)
B =3 vealiil H7 # Rl E Bif & H17 H18 H19 H20 H21
- 1% ISR¥:: A E £ E B ES 0.3 0.3 0.3 0.3 0.3
” LR BT T 1.0 1.1 0.9 0.9 0.8
B # B Tk R - - - - 0.8
B £ £ B ¥ [i5] 1.0 1.0 1.0 0.9 0.8
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V& 2-4-1-12 HleAF LA b (Ox: 21 FE. FRIE)

[IRiIExRER)
B o | m oEHO ERA L 1 IR m o EHOR
BEs | warit| ma | B B ENERS e s [ L MiEo s Ru ki
i Bom O mE MK
(B) | (BRE) (ppm) | (B) | (&) | (B) | (BF) | (ppm) (ppm)
= | E 364 5382 0.032 47 280 0 0 0.096 0. 045 X
b= Il IRES 353 5185 0.025 241 111 0 0 0.095 0.037 X
# o|# | 365 5304 o003 36 25| o o o008 o00s2
@  m|m| 365 5401 0031] 30| 255 o o o095 0042 x
£ m| | 365| 5384 0033 45| 316 o o o006 o085 «x
i &P | {E 365 5422 0.035 46| 314 0 0 0.098 0. 045 X
h g5 f 297 4385 0.030 40( 251 0 0 0.093 0. 042 X
— + | 1E 364 5368 0.032 48 295 0 0 0.094 0. 045 X
W om| | 65| 5420 0032 45 200 o of o100 o0.045
s || 356 520] o0.032 40| 284 o of o0.008] o0o0s5] «x
= m| | 61| 5326 0032 a1l 307 o o o0.102] 0044 «x
A BA | £ 365 5423 0.034 52| 352 1 2 0.130 0. 046 X
B EE E] 365 5401 0.036 57 278 0 0 0.102 0. 049 X
KOS N O] &F 365 5413 0.033 41 273 0 0 0.095 0.044 X
2 |swsals e @ | 3es|  s424] 0.033] 40| 28] o 0| o0.005] o004
m ma & & | 363 539 0030 43 2060 o o o009 o043
" AlB e ] 362 5347 0.037 73| 502 0 0 0.104 0. 051 X
£ H%E H| & 365 5382 0.031 50( 290 0 0 0. 091 0. 045 X
o FA F X 365 5428 0.037 58| 379 0 0 0.100 0. 050 X
B |w slw  s| k| 35| sa06] o0.035| 30| 245 o o o0.003] 0045 «x
m Bl B | 365 5307 o003 53 343 o o o106 0047 x
% FER A 4 | 365]  s421] o0.03 38| 211 o o o098 o0o043] x
I 1] N Ml F 365 5406 0.033 61 387 0 0 0.106 0. 047 X
B OREREE X 365 5358 0.038 39 318 0 0 0.108 0. 045 X
E RIE AR ES 365 5423 0.034 45 294 0 0 0.105 0. 045 X
g k| o | % ses| sen| o0 so| 3| o] o ong o004 «x
miuB|x & 0|4 | 364 5347] 0.033] 41| 2520 o o o106 o0.043)
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V& 2-4-1-13 HIEZEAXTOHF 2k (Ox: BEZE(L)
(REEsE 5 —)
(1) BRE®1BEEEORSIE (ppm)
5] X 5 i T A1 438 = & H17 H18 H19 H20 H21
— 1l &ig 11 [E3 0.099 0. 081 0.105 0.112 0.098
= v & 0.079 0.074 0.093 0.081 0. 095
5 a =S 1% 0.077 0.079 0.112 0.107 0.098
h By T 0.092 0.074 0.095 0.113 0.093
= [ 1* 0.087 0.076 0.106 0.113 0.096
3 [ i) 0. 091 0.083 0.115 0.106 0.095
+ il [E3 0.078 0.077 0.109 0.112 0.094
& HT 1* 0.107 0.083 0.112 0.108 0.096
1] H 1 0.099 0. 081 0.106 0.104 0.100
=R [E3 0.096 0. 085 0.108 0.102 0.098
= Ik 1* 0.090 0.083 0.103 0.102 0.102
A R & 1% 0.118 0.073 0.083 0.085 0.130
18 8 E3 &) 0.106 0.077 0.094 0.102 0.102
X 8= | I ] 0.092 0.084 0. 085 0.096 0.095
= ALl BIR 1l a ES 0.097 0.077 0.095 0.083 0.095
=] AiB a [E3 0.090 0.082 0.095 0.114 0.099
k=1 BiA A ] 0.106 0.077 0.111 0.093 0.104
ES H {4 H ES 0.093 0.080 0.088 0.093 0. 091
H, FF A = *x 0.102 0.079 0.090 0.089 0.100
i} T i JT *x 0.102 0.078 0.089 0.094 0.093
[N B =] [ES 0.104 0.078 0.092 0.106 0.106
F AT | F o [E3 0. 086 0.075 0.096 0.100 0.098
X iR #0 1 0.089 0. 085 0.098 0. 091 0.106
bis:] riE K B E * 0.095 0. 081 0. 091 0.084 0.108
ES RS £E (£ 0.099 0.089 0.109 0.095 0.105
& X b= # T 0.111 0. 085 0.089 0.103 0.113
Ed [N IZ2ES S I 1 0.094 0.076 0.092 0.108 0.106
(2) BEO 1 EBIEAD 0. 06ppm %8 2 =Bk
5] el T A1 1381 TE )] Ji H17 H18 H19 H20 H21
- il &igh ] [E3 272 162 395 408 314
k=1 1] E3 24 11 66 107 111
B r S 1 36 31 313 339 254
§ By i T 103 69 217 283 251
= [ 1% 114 101 238 300 280
13 & 5] 182 168 288 280 255
+ il 1% 43 128 300 325 295
£ HT 1 191 196 319 347 316
] H [E3 230 103 382 366 290
R 1% 258 122 240 290 284
= b4 1 129 38 302 402 307
a Hig # 1% 75 34 29 48 352
b= g £ 5] 141 60 157 146 278
X I3 iy J I & 100 57 80 190 273
3 Al AR 1l a [E3 175 101 310 88 280
=] Al a 1 140 175 54 171 296
E=1 BiE a 5] 255 76 174 226 502
E3 =RES H 1% 141 17 178 200 290
H FRiHL = ES 297 128 203 175 379
1] JT il JT *x 212 150 126 195 245
LN B =] 1 143 122 175 233 343
F IGREL Jici 1 94 32 104 146 211
PN iR Finl 1% 115 110 199 182 387
A AiE ® = *x 117 104 94 60 318
ES S ES] £E 1% 315 187 245 219 294
& % E # T 213 190 139 273 338
! [N % K ES I 1£ 140 89 195 252 252
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Vi 2-4-1-14

AL UmiEKkF (NMHC : FpL 21 F£E. FRHE)

(R 3RER]
- e [ i Poome i 30?;):?2 ;N,?Eﬂifg.gfpr:az —
N P gﬁ AIERER |0 gazlzgég gtfﬁég _ ?::Z::JE _ iﬁ:}) tgﬂﬁg § ”*ﬁj‘, ’:gjﬁé %;ﬁg
(B¥fE) | (ppmC) | (ppmC) (8) (ppmG) | (ppmC) (B) (%) (8) (%)
W &4 fE| & 8201 0.07 0.08 356 0.32 0.00 24 6.7 1 0.3 =S
B ElE B 7185 0.10 0.12 299 0.64 0.03 43 14.4 10 33 &
—gR|s AElE B 29089 0.14 0.16 128 0.33 0.04 32 25.0 3 23 &
/N — 1N Bl & 8109 0.08 0.08 357 0.22 0.04 1 0.3 0 0.0 B
B ON|EREE 8531 0.06 0.06 363 0.14 0.01 0 0.0 0 ool &
BB &R Bl & 8197 0.19 0.19 358 0.43 0.05 133 37.2 18 5.0 =S
& Bf| T 8093 0.16 0.18 353 0.86 0.03 107 30.3 29 82 &
V& 2-4-1-15 &@ibkE (CH, - THC : TR 21 £, FRE)
(REx 3R]
A 4 p% ES 7 1t K ES
ol e g~ompic |6 I~ OB g~ompic|S M6~ OB o
pERamRE &R R legins 5ieE SELPEmEE AL leron|sras|s BT HMTNE 5,
9 Bl g " g T fEg s B"H
= 18 | 1E {E RS E|RIERE| A&
(&%f8) | (ppmC) | (ppmC) | (B) |[(ppmC) | (ppmC) | (BERH) [ (ppmC) | (ppmC) | (H) |(ppmC) | (ppmC)
W & | & 8201 1.74 1.76 356 1.98| 1.64| 8201 1.82 1.84 356 2.21| 1.68| &
B & Al 7185 1.91 1.93 299| 2.22 1.75| 7185 2.01 2.05 299 2.62| 1.84| E
—B|E 3 B A 2989 1.87 1.88 128 2.12| 1.81] 2989 2.02 2.04 128 2.33| 1.89] B
/NI 11N 5| & 8110 1.84 1.85 357| 2.25( 1.67| 8109 1.92 1.94 357 2.34| 1.73| E
m REREE| X 8532 1.91 1.93 363| 2.31| 1.80[ 8531 1.97 1.98 363 2.41| 1.84| B
BEEB/ ML &R & ™ 8197 1.77 1.78 358 2.07| 1.49] 8197 1.96 1.98 358 2.38| 1.66| &
= BI[#T| 8093 1.84 1.86 353| 2.09( 1.73] 8093 2.00 2.03 353 2.75| 1.85| &
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(1) FEFE5E (ppmC)

AR URIEKFE (NMHC : BFEE)

(REREE 2]

B K 4w B #E E B Ag H17 H18 H19 H20 H21
- ®& B & i &l ] 0.10 0.10 0.07 0.08 0.07
15 & 2 0.12 0.12 0.15 0.10 0.10
1 B Bl & 0.07 0.06 0. 06 0.09 0.08
& sE % B E| X 0.07 0.05 0.04 0.04 0. 06
B # B &= B 0.20 0.22 0. 21 0.18 0.19
13 3E 0.23 0.18 0.19 0.17 0.16
(2) 6~9BFIZHBITEHFEFHME (ppmC)
B K Him B #iE O E Bl Ag H17 H18 H19 H20 H21
- ®& B & i &l ] 0.12 0.11 0.09 0.09 0.08
5 EiE £ & 0.14 0.13 0.16 0.12 0.12
1 Bim Bl & 0.08 0.07 0.07 0.09 0.08
b sE % B B % 0.07 0.05 0. 04 0.04 0.06
B ¥ B &iE - 0.20 0.22 0.20 0.18 0.19
13 g i 0.25 0.21 0. 21 0.20 0.18
(3) 6~9BFIZH TS 3 BFHEIFHIEN 0. 31ppmC ZiEZ =B
Iz X 5 it i) LeRE:l iE B HZ H17 H18 H19 H20 H21
- #®& B & 1 ) 5 19 9 6 5 1
15 b =3 24 14 21 11 10
E B B & 1 0 2 0 0
& sE B B B * 0 0 0 0
B ¥ B &R B 33 48 24 10 18
% g 92 49 46 44 29
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V& 2-4-1-21 RAMBIFEHER (FEK 21 £E)
(REEREEV 2]
J&. [ B F 5 B E (n/s)
B #|Calm| N | NNE| NE | ENE| E | ESE| SE [ SSE| S | SSWw | Sw | wsw | w | wNw ([ Nw | NNW
e o320 1.8 |1.56 1514152427 21]|1.6[1.9]1.9]23[26]23]1.9
# 5 nlo2]23]1.8]16f16]17[20]24 252018 [1.4]21[22]1.6[1.7]26
s glo2 (13|12t |10]o8 o9 |1t ft5 1210|1118 [22]1.9[19]21
= o3 |to 11|t f15]16]20 252521 ]|17[17]25][34]30][15]1.4
13 @|0.2/09]09 0909 09|11 [13]16]1.5[13]1.3[1.4]1.6][1.3]09]0.8
+ 0.3 (21 [1.7]1.6[16]1.8[20]|20]20]|20]1.8[16]25][3.1]23][1.5]20
E gr{o2 |20 (1613121518 |17 [1.3[13[13]1o]|12]13]|1.7]20]1.8
il mlo.3 |14 1.5 |17 161922 2219 |1.5]|1.4[1.5]|23]27[20]1.6]15
R 0.2 |19 |17 |18 1514142020 1.8]1.8[13]11[1.3]22][19]1.8
=) 0.2 09|11 ]10[10]0.8] 0708107 [o7]08] 10|17 ]27][23]15][1.1
A #lo2 (2017172220 2034 37|31 [23]16]21[34]48][33]22
15 glo2 10|15 152122 2724 21101409 10|27 ]26][1.3]1.0
7 o m|o2ft2]|t1[1.3]|1.4(1.5]20]23[1.8]1.3[07]07[29]33][27][1.6]1.3
S i s@lo2ft1o]rsfr7 1313|1621 |20]taft1]ra]18]1.9]20][1.7]1.2
=i mlo2[to|t2 1113161510 [10]1.4]20][1.9]25]([34]27[1.7]1.1
= Blo.2 2.1 |19 f15])1.6]20]22 (23 |24]17[16]1.9]23[24[29]31]22
L mlo.2] 09 12|21 2521|1513 ]|16 15|21 ]19[30]27[27]24]1.4
Fol #Zlo1]1.2]09]09 |11 |12f12[10[1.0[09[09 |11 ]1.8]30]29]|20]1.3
W 7|02 2120 22|18 14192924 ]|1.7[1.4]1.5[1.9]35][36]24]1.9
[N gl0.2[1.3]1.5[1.3]|10[1.4]20]23 |24 ]|1.8[1.6]1.8[2.2|27[34[22]1.4
X #1/0.2 (0.9 09 08|07 |1.2[16]20[22]13]08]07[10][1.6]30][1.8]1.0
B % s 50215221609 o9 |11 [1.3]|12]t2]14]10f[10]17[1.3]1.1]10
S gglo2 |16 |13 |rof11 |3 fte|1.7|rol17]1r4af[1.3]1.8[1.2]1.8[26]23
| 0.2 1221816192022 |21]1.9([30]30][23]|28 ] 40]|42]28][21
% #& ml|o2f13]|13 1619141519 [20]19[1.8]1.3[1.5]|21]34[25]1.4
=B #lo2 1421121317 |tof1e|t2f12])1.4]21]33[31][1.7]1.3
AN A wjot1f46]29 2422 (27]29(37[39]39[43]46]55]|59][57][43]4.9
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VR 2-4-1-22 T2 FEASASELANEE=4 ) VI RERR

5
Sk
}_}t
A
SIIL.I?I

]

EEERRVRESRS
EHE R4 1TF=x:7)
AEEE & B s ) R/ME | &KfE | BEEE | {EHHE
Ao | SR | —was | PR gEs | onm | mER
= A KKAER

rysooTFLY TEE (ug/m°) 0.32 0.030 0.046 0.029 0.034 0.033 0.044 0.029 0.32 200 -
RIS 12 12 12 12 12 12 12

ThkZBBIFLY TEHfE (ug/m’) 0.1 0. 069 0.077 0.022 0.014 0.10 0.075 0.014 0.1 200 -
HRIAE 12 12 12 12 12 12 12

Ro¥y TEE (ug/m’) 0.92 1.2 0.86 0.53 0.88 0.80 1.4 0.53 1.4 3 -
k384 12 12 12 12 12 12 12

Soopiray FHE (1 g/m°) 2.3 2.8 5.7 0.51 0.91 1.6 0.99 0. 51 5.7 150 -
RIS 12 12 12 12 12 12 12

Foyn=rYyiL TEHfE (ug/m’) 0. 0056 0.037 0.18 0.0078 0. 050 0. 058 0. 060 0. 0056 0.18 - 2
3284 12 12 12 12 12 12 12

BlEEZILE/ 37— FHIE (1 g/m°) 0.013 0.013 0.012 0.0070 0.014 0.016 0.015 0.0070 0.016 - 10
BRIRE 12 12 12 12 12 12 12

VA=1=F: YN FHIE (1 g/m) 0.17 0.13 0.15 0.12 0.17 0.15 0.33 0.12 0.33 - 18
3284 12 12 12 12 12 12 12

BlezFLy FEHfE (ug/m) 0.058 0.086 0.045 0.022 0.058 0. 055 0.068 0.022 0.086 - -
BRIRE 12 12 12 12 12 12 12

1, 2—4H0ORIAY FHE (ug/m®) | 0.096 0.10 0.12 0.075 0.22 0.25 0.23 0.075 | 0.25 - 1.6
38 12 12 12 12 12 12 12

1, 83—=74Yxy TEE (ug/m°) 0.078 0.17 0. 069 0.022 0.12 0.092 0.27 0.022 0.27 - 2.5
k3284 12 12 12 12 12 12 12

72 L7LTER T8 (ug/m’) 1.9 2.1 1.9 1.6 1.3 1.3 1.2 1.2 2.1 - -
BRIAE 12 12 12 12 12 12 12

HRILLTILTE R T fE (ug/m’) 2.8 3.1 2.6 2.2 2.5 2.3 2.6 2.2 3.1 - -
[r3s-s 12 12 12 12 12 12 12

ZyTIEEY FH{E (ng/m%) 1.1 2.6 1.9 1.8 1.1 1.6 1.3 1.1 2.6 - 25
RIRE 12 12 12 12 12 12 12

ERRUZDOILEEY FH{E (ng/m%) (0. 49) (0.67) (0.75) 1.7 1.0 1.3 1.0 0.49 1.7 - -
3284 12 12 12 12 12 12 12

ANY Y I LRVZDIEEY FH{E (ng/m) (0. 80) (0. 80) (0. 80) (0.013) (0.015) (0.015) (0.016) | 0.013 0.80 - -
RIRE 12 12 12 12 12 12 12

TUHVRUZDILEY EH{E (ng/m’) 8.9 18 1 6.9 13 35 16 6.9 35 - -
33 12 12 12 12 12 12 12

Y OLRUZDIEED il (ng/m) 1.8 2.0 1.8 1.4 1.7 1.5 2.7 1.4 1.5 - -
BRI 12 12 12 12 12 12 12

KEBRUZDILED Yl (ng/m°) 1.8 1.5 1.7 1.6 2.0 1.9 2.0 1.5 2 - 40
HRIAR 12 12 12 12 12 12 12

vy [a] ELy E191E (ng/m’) 0.25 0. 062 0.13 0.038 0.087 0.12 0.1 0.038 0.25 - -
f:33-4 12 12 12 12 12 12 12

F1 EHEOEHICKRL T, AEHEESEETRERENVSEIE. TETRED1/2L LTEHLTLS,
F2  FNAOHFR. BONFHESRETRES Y/NSIMETHE LD,
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